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Quiz – Transistors

The operating principle for transistors is:

b) The voltage applied between two 
terminals controls the current 
through the third terminal 

d) The current through one terminal 
controls the voltage between the 
remaining two terminals 

c) The current through one 
terminal controls the current 
through the remaining two 
terminals

a) The voltage applied between 
two terminals controls the voltage 
between the remaining two 
terminals 
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Quiz – Transistors

Based on the plot, the following is true: 

b) VCT > VThn, Tn – on,   IT = 0

d) VCT > VThn, Tn – off,   IT < 0c) VCT < VThn, Tn – off,   IT = 0

a) VCT < VThn, Tn – on,   IT > 0
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Quiz – Transistors

For the given schematic, the following is true: 

b) Vomax = VCT, IOex = VPS/R

d) Vomax = VPS, IOex = - VPS/Rc) Vomax = VPS, IOex = VPS/R

a) Vomax = - VCT, IOex = VPS/R
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Quiz – Transistors

For the given schematic and plot, the following is true: 

b) VCT = 10 V, IT = 4 mA

d) VThn = 2 Vc) VCT = 0 V, IT = 2 mA

a) VThn = 10 V
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Quiz – Transistors

Based on the plots, the value for β is:

b) β = 100 

d) β = 100 mAc) β = 100 V/mA

a) β = 100 mA/V2
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Quiz – Transistors

For the given schematic, with vCo = 0.4 V:

a) T – off because vCo= 0.4 V < VTh,n = 0.6 V

b) T – off because vCo= 0.4 V > VTh,n = 0.6 V

c) T – on because vCo= 0.4 V > VCEsat = 0.2 V

d) T – on because vCo= 0.4 V < VCEsat = 0.2 V
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Quiz – Transistors

For an n-type BJT, the following is true:

b) (exc): iC = βiB
(aF): iC < βiB

d) (aF): iC = βiB
(exc): iC < βiB

c) (exc): iC = βiB
(aF): iCex < βiB

a) (aF): iC = βiBsat

(exc): iC < βiB
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Quiz – Transistors

Assuming T in (aF), the following is true:

b)

d)c)

a) DSsatDS Vv <

])(2[ 2
DSDSThGSD vvVvi −−= β

2)( ThDSD Vvi −= β

DSsatDS Vv >
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Quiz – Transistors

For VGS = 2.5 V and ID = 300 uA, the following is true:

b) VDS = 1 V, T in (aF)

d) VDS = 1 V, T in (exc)c) VDS = 2.5 V, T in (exc)

a) VDS = 2.5 V, T in (aF)
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Quiz – Transistors

For VGS = 9 V, the values for R1 and R2  can be:

b) R1 = 5 MΩ; R2 = 5 MΩ; 

d) R1 = 0.5 MΩ; R2 = 1.5 MΩ; c) R1 = 15 MΩ; R2 = 5 MΩ; 

a) R1 = 1.5 MΩ; R2 = 0.5 MΩ; 
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